From Eq. 2-54, the capacitance with no dielectore is Co = A 6./d, where A is the area of the plates and of is the separation between the plates.

In configuration (a), suppose the charge density is σ on the upper place, - σ on the lower than $D = \sigma$ between the places (this is completely analogous to Ex 2.5, but with D determined from Eq. 4.25)

Now E = 0/6 in air , and E = 0/E in dielectric , so the potential difference can be

expressed as
$$V = \frac{\sigma}{\epsilon} \frac{d}{z} + \frac{\sigma}{\epsilon} \frac{d}{z} = \frac{Q}{A} \frac{d}{z} \frac{1}{\epsilon_0} \left(1 + \frac{1}{\epsilon_1 \epsilon_0}\right) = \frac{Q}{2A\epsilon_0} \left(1 + \epsilon_0/\epsilon\right) = \frac{\sigma}{\epsilon_0} \frac{1 + \epsilon_0^{-1}}{2}$$

Hence
$$C_q = \frac{Q}{V} = \frac{2A\epsilon_0}{d} \frac{1}{1+\epsilon_r^{-1}} = \frac{2A\epsilon_0}{d} \frac{\epsilon_r}{\epsilon_r + 1}$$
 $\frac{C_a}{C_0} = \frac{2\epsilon_r}{1+\epsilon_r}$

In configuration (b), given that the potential difference is V, E=V/d, so $\sigma=e_{\sigma}E=e_{\sigma}V/d$ for the part with no dielectric

Next P= & Xe E = & Xe V/d in dielectric; so of - P. A = -& X. V/d at top surface of dielectric (A points "up" while & points "down").

Since V is the same, $\sigma = \sigma_{tot} = \sigma_{b} + \sigma_{f}$ for the dielectric part Hence $\sigma_{f} = \sigma_{c} - \sigma_{b} = \epsilon_{0} V(1+Y_{c})/d$ on the top plate above the dielectric

Thus
$$C_6 = \frac{Q}{V} = \frac{1}{V} \left(\sigma \frac{A}{2} + \sigma_{\overline{q}} \frac{A}{2}\right) = \frac{A}{2V} \left(\varepsilon_0 \frac{V}{d} + \varepsilon_0 \varepsilon_r \frac{V}{d}\right) = \frac{A \varepsilon_0}{2d} \left(1 + \varepsilon_r\right) \qquad \frac{C_6}{C_6} = \frac{1 + \varepsilon_r}{2}$$

Let x oxis points "down"

		E	$\bar{\mathcal{D}}$	P	Of (top surface)	of (hp plate)
Config (a)	Air	1+ 6- d x	26r 6.V 2	0	0	11 Er d
	Dielectore	1+ Er d 2	2tr GV 2	2 6-1 6V 2	-2 Er-1 E.V	N.A.
Config (6)	Arr	V £	60 V 2	0	0	coV (leff)
	Dielectric	V 2	Er GoV ż	(6r-1) €0 V ₹	- (4,-1) 6, V	EreoV (right)

P4.24

Analogous to
$$Ex 4.7$$
 Here we have

$$B.C.'s : \begin{cases} (1) \text{ Vout} = V_{med} & \text{at } r = b \\ (2) \text{ EdV med} = E_0 d_r \text{ Vout} & \text{at } r = b \\ (3) \text{ Vmed} = 0 & \text{at } r = a \end{cases}$$

$$V(r,\theta) : \begin{cases} V_{out}(r,\theta) = -E_0 r \cos \theta + \sum_{q} B_q r^{-(q+q)} P_q(\cos \theta) & r > b \\ V_{med}(r,\theta) = \sum_{q} (A_q r^q + \widehat{B_q} r^{-(q+q)}) P_q(\cos \theta) & \text{, acreb} \\ V_{in}(r,\theta) = 0 & \text{, rea} \end{cases}$$

(1) =>
$$-\bar{\epsilon}_{o}b \cos \theta + \sum_{a} B_{a}b^{-(l+1)} P_{a}(\cos \theta) = \sum_{a} (A_{a}b^{1} + \tilde{B}_{a}b^{-(l+1)}) P_{a}(\cos \theta)$$

(2) => $\epsilon_{r} \sum_{a} \left[A_{a}b^{l-1} - (l+1) \tilde{B}_{a}b^{-(l+1)} \right] P_{a}(\cos \theta) = -\bar{\epsilon}_{o} \cos \theta - \sum_{a} (l+1) B_{a}b^{-(l+1)} P_{a}(\cos \theta)$
(3) => $A_{a}a^{l} + \tilde{B}_{a}a^{-(l+1)} = 0 => \tilde{B}_{a} = -a^{-(2l+1)} A_{a}$

$$(y): B_{\ell} b^{-(\ell+1)} = A_{\ell} \left(b^{\ell} - \frac{\alpha^{2\ell+1}}{b^{\ell+1}} \right) \Rightarrow B_{\ell} = A_{\ell} \left(b^{2\ell+1} - \alpha^{2\ell+1} \right)$$

$$(y): \epsilon_{r} \left(A_{\ell} b^{\ell-1} + (\ell+1) \frac{\alpha^{2\ell+1}}{b^{\ell+1}} A_{\ell} \right) = -(\ell+1) B_{\ell} b^{-(\ell+2)} \Rightarrow B_{\ell} = -\epsilon_{r} A_{\ell} \left(\frac{\ell}{\ell+1} b^{2\ell+1} + \alpha^{2\ell+1} \right)$$

$$= A_{\ell} = B_{\ell} = 0$$

$$= A_{\ell} = B_{\ell} = 0$$

$$= A_{\ell} = B_{\ell} = 0$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow A_{1} = \frac{-3\bar{E}_{0}}{2[1-(a/b)^{3}]+6r[(1+2(a/b)^{3})]}$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3} = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3}) = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3}) = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3}) = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3}) = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow B_{1} - \bar{E}_{0}b^{3} = A_{1}(b^{3}-a^{3})$$

$$(ij : -\bar{E}_{0}b + B_{1}b^{-3}) = A_{1}(b - \frac{a^{3}}{b^{2}}) \Rightarrow A_{1} = \frac{-3\bar{E}_{0}}{2[1-(a/b)^{3}]+6r[(a/b$$

P4.26

From Eq 4.64, the appeared force on the ord is $F = (V^2/3)(dC/dh)$, so first find the capacitance.

Are part $\cdot E = 2\lambda/4\pi\epsilon_0 S \Rightarrow V = \frac{2\lambda}{4\pi\epsilon_0} \ln(b/a)$, λ there density of inner table is air part.

Oil part: D = 2x/475 => E = 2x/4765 => V = 2x/476 ln (b/a)

Since V is the same, 1/6 = 1/16 => 1/= (6/6) 1 = 61

Now $Q = \lambda'h + \lambda(l-h) = G_1\lambda_1 + \lambda h + \lambda h + \lambda l = \lambda l(G_1-l)h + \lambda l = \lambda (\chi_1h + l)$, l total height Hence $C = \frac{Q}{V} = \frac{\lambda(\chi_2h + l)}{2\lambda \ln(b/a)} + \chi_1G_0 = 2\pi G_0 \frac{\chi_2h + l}{\ln(b/a)}$ $= F = \frac{l}{2}V^2 \frac{3\pi G_0 \chi_2}{\ln(b/a)}$

The oil will ruse contil the upward force is belanced by that from gravity $F=mg=P\pi(b^2-k^2)gh$ $h=\frac{\epsilon_0 \chi_0 V^2}{\rho(b^2-k^2)g\ln(b/n)}$

P4.31

 $\int dq \cdot Q = Q_{f,enc.} \Rightarrow D = \frac{q}{4\pi r^{2}} \stackrel{c}{\subseteq} , \quad E = e^{-t}Q = \frac{q}{4\pi \epsilon_{0}(1+\chi_{e})} \frac{\stackrel{c}{C}}{r^{2}} , \quad P = \epsilon_{0} \chi_{e} \stackrel{c}{=} \frac{q}{4\pi (1+\chi_{e})} \frac{\stackrel{c}{C}}{r^{2}}$ $P_{b} = -\nabla \cdot P = -\frac{q \chi_{e}}{4\pi (1+\chi_{e})} \left(\nabla \cdot \stackrel{c}{C}\right) = -\frac{q}{1+\chi_{e}} \frac{\chi_{e}}{1+\chi_{e}} \stackrel{f}{S}_{1}^{2}\right) \quad \text{by Eq. 1.99}, \quad \sigma_{b} = P \cdot \stackrel{c}{=} = \frac{q \chi_{e}}{4\pi (1+\chi_{e})} \stackrel{f}{R^{2}}$ $Q_{surf} = \sigma_{b} \left(4\pi R^{2}\right) = \frac{q}{1+\chi_{e}} \quad \text{the compensating -ve charge is at the center } \int d\tau P_{b} = -\frac{q \chi_{e}}{1+\chi_{e}} \int de \stackrel{f}{S}_{1}^{2}$

P4.36

- (a) Propose VIN = VoR/r, then $\vec{\epsilon} = -\nabla V = (VoR/r^2)\hat{\epsilon}$, $\ell = 60 \times e V_0 \frac{R}{r^2}\hat{\epsilon}$ for $\vec{\epsilon} < 0$ ($\ell = 0$ for $\vec{\epsilon} > 0$), and $\vec{\epsilon} = 60 \times e V_0 \frac{R}{R^2}(\hat{\epsilon} \cdot \hat{\mu}) = -\frac{6 \cdot N_e V_0}{R}$ ($\hat{\mu}$ points) out of the dietectric => $\hat{\mu} = -\hat{\epsilon}$). This G_0' is on the surface at r = R. The flat surface $\vec{\epsilon} = 0$ carries too bound charge since $\hat{\mu} = \hat{\epsilon} = 1 \hat{\epsilon}$ here. There is also no bound volume charge (by $\vec{\epsilon} = 0$) if \vec{V} is to have the required spherical symmetry, the net charge must be uniform:

 Out 4r, $R^2 = R_{H_0} = 4\pi \epsilon_0 R V_0$ (since $V_0 = R_0 \ell \ell R_0 \epsilon_0 R_0$) on the parabolic (Note $G_0 = 0$, so $G_0 \ell \ell R_0 \ell R_0$) $G_0 = \frac{1}{2} \epsilon_0 V_0 \ell R_0$ on northern hemisphere (Note $G_0 = 0$, so $G_0 \ell R_0 \ell R_0$) on southern hemisphere (Note $G_0 = 0$, so $G_0 \ell R_0 \ell R_0$)
- (b) By construction, $C_{b,t} = C_{b} + C_{f} = c_{b} V/R$ is uniform. So the potential of a uniformly changed sphere is $V(r) = \frac{R_{b,t}}{4\pi c_{b,r}} = \frac{C_{b,t}}{4\pi c_{b,r}} = \frac{cV_{o}}{R} \frac{R^{2}}{c_{or}} = V_{o} \frac{R}{r}$

P4.36

- (c) Since everything is consistent, and the B.C.'s (VeVo at rek, V-20 m r-20) are met, the uniqueness than guarantees that the soln we constructed is the unique soln of The problem
- (d) For fig. (b), everything goes through as before. But for fig.(a), since P is not perpendicular to is on the flat surface here, there will be bound charge on it, and so sporting The symmetry